1. (20 points)

(i) Calculate the distance between the point (1, —2,3) and the point (2,7, 1).
(i) Find the equation of the line going through (2,~1,—1) and (1,2, —-3).
(iii} Do the points (2,—2,—1), (1,2, -3) and (0,9, —5) lie on a straight line?
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2. {20 points) Find the parametric equation of the tangent line to the curve
7(t) = (42, V2cos(t), v2sin(t))

at the point (m,1,1).
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3. Consider the points P = (0,0,3), @ = (0,1,0) and R = (2,0,0). There is a plane
going through them.

(i) Find a normal vector to this plane.

(ii) Find a scalar equation for this plane.
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4. (20 points)

(i) Find the point of intersection beween the two curves
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(ii) What is cos(e), where o is the angle between the curves at the point of

intersection?
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5. (20 points) What is the arc-length of
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6. (20 points) Find the position function of a particle that has an initial velocity
#(0) = {1,1,0) and has acceleration &(t) = (¢,¢%,sin(z)).
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